


REASONING

REASONING

QUESTION 1                                                                                                                            Right mark: 1   Negative mark: 0.25

1. In the arrangement “R38N5UQ2T9", the positions of the 1st and the 6th elements

are interchanged, those of the 2nd and the 7th are interchanged and so on. Then,

which of the following will be the 4th element from the left end?

1. व्यवस्था "R38N5UQ2T9" में, पहले और 6वें तत्वों की स्स्थस्त आपस में बदल दी जाती ह,ै दसूरे और

7वें तत्वों कीअदला-बदली की जाती है और इसी तरह आगे भी। तो, स्िम्ि में से कौि सा तत्व बाएं छोर से

चौथा तत्व होगा?

(A) N

(B) 5

(C) T

(D) 9

(E) None of these

IBPS-PO-MAINS-2016



REASONING

REASONING

QUESTION 1                                                                                                                            Right mark: 1   Negative mark: 0.25

1. In the arrangement “R38N5UQ2T9", the positions of the 1st and the 6th elements

are interchanged, those of the 2nd and the 7th are interchanged and so on. Then,

which of the following will be the 4th element from the left end?

1. व्यवस्था "R38N5UQ2T9" में, पहले और 6वें तत्वों की स्स्थस्त आपस में बदल दी जाती ह,ै दसूरे और

7वें तत्वों की अदला-बदली की जाती है और इसी तरह आगे भी। तो, स्िम्ि में से कौि सा तत्व बाएं छोर से

चौथा तत्व होगा?

(A) N

(B) 5

(C) T

(D) 9

(E) None of these

IBPS-PO-MAINS-2016
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QUESTION 2                                                                                                                            Right mark: 1   Negative mark: 0.25

2. If the letters in the word "ALGEBRA" are rearranged as they appear in 

English alphabetical order, which of the following letters will be the fifth from 

left? 

2. यस्द शब्द "ALGEBRA" के अक्षरों को अगं्रेजी वर्णमाला के क्रम में पिुव्यणवस्स्थत स्कया जाता 

ह,ै तो स्िम्िस्लस्ित में स ेकौि सा अक्षर बाए ंस ेपांचवां तत्व होगा?

(A) L

(B) A

(C) R

(D) E

(E) None of these

UCO-CLERK-PRE-2011



REASONING

REASONING

QUESTION 2                                                                                                                            Right mark: 1   Negative mark: 0.25

2. If the letters in the word "ALGEBRA" are rearranged as they appear in 

English alphabetical order, which of the following letters will be the fifth from 

left? 

2. यस्द शब्द "ALGEBRA" के अक्षरों को अगं्रेजी वर्णमाला के क्रम में पिुव्यणवस्स्थत स्कया जाता 

ह,ै तो स्िम्िस्लस्ित में स ेकौि सा अक्षर बाए ंस ेपांचवां तत्व होगा?

(A) L

(B) A

(C) R

(D) E

(E) None of these

UCO-CLERK-PRE-2011
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QUESTION 3                                                                                                                            Right mark: 1   Negative mark: 0.25

3. If in the word "VERTICAL" all the vowels are first arranged alphabetically 

followed by all the consonants arranged alphabetically then which letter will be 

fifth from the right? 

3. यस्द शब्द "VERTICAL" में सभी स्वरों को पहले वर्ाणिकु्रम में व्यवस्स्थत स्कया गया ह ैऔर 

उसके बाद सभी व्यंजि वर्ाणिकु्रम में रिा गया ह ैतो स्िम्ि में कौि सा अक्षर दाए ँस ेपाँचवाँ होगा?

(A) L

(B) V

(C) E

(D) C

(E) None of these

IBPS-CLERK-PRE-2017
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QUESTION 3                                                                                                                            Right mark: 1   Negative mark: 0.25

3. If in the word "VERTICAL" all the vowels are first arranged alphabetically 

followed by all the consonants arranged alphabetically then which letter will be 

fifth from the right? 

3. यस्द शब्द "VERTICAL" में सभी स्वरों को पहले वर्ाणिकु्रम में व्यवस्स्थत स्कया गया ह ैऔर 

उसके बाद सभी व्यंजि वर्ाणिकु्रम में रिा गया ह ैतो स्िम्ि में कौि सा अक्षर दाए ँस ेपाँचवाँ होगा?

(A) L

(B) V

(C) E

(D) C

(E) None of these

IBPS-CLERK-PRE-2017
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QUESTION 4                                                                                                                            Right mark: 1   Negative mark: 0.25

4. If each vowel of the word "SILVER" is changed to the previous letter in the English 

alphabetical series and each consonant is changed to the next letter in the English 

alphabetical order from left to right, which of the following will be third from the right? 

4. यस्द शब्द "SILVER" के प्रत्येक स्वर को अंगे्रजी वर्णमाला श्रंिला में स्पछले अक्षर से बदल स्दया जाए और 

प्रत्येक व्यंजि को अंगे्रजी वर्ाणिकु्रम में अगले अक्षर में बदल स्दया जाता ह,ै स्िम्ि में से कौि सा दायें से तीसरा 

होगा?

(A) M

(B) R

(C) T

(D) H

(E) W

IBPS-PO-PRE-2014
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QUESTION 4                                                                                                                            Right mark: 1   Negative mark: 0.25

4. If each vowel of the word "SILVER" is changed to the previous letter in the English 

alphabetical series and each consonant is changed to the next letter in the English 

alphabetical order from left to right, which of the following will be third from the right? 

4. यस्द शब्द "SILVER" के प्रत्येक स्वर को अंगे्रजी वर्णमाला श्रंिला में स्पछले अक्षर से बदल स्दया जाए और 

प्रत्येक व्यंजि को अंगे्रजी वर्ाणिकु्रम में अगले अक्षर में बदल स्दया जाता ह,ै स्िम्ि में से कौि सा दायें से तीसरा 

होगा?

(A) M

(B) R

(C) T

(D) H

(E) W

IBPS-PO-PRE-2014
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QUESTION 5                                                                                                                            Right mark: 1   Negative mark: 0.25

5. How many such pairs of letters are there in the word "REFRESHING" each 

of which has as many letters between them in the word as in the English 

alphabetical series? (In both forward and backward directions) 

5. शब्द "REFRESHING" में अक्षरों के ऐसे स्कतिे जोडे हैं स्जिमें स ेप्रत्येक के बीच उतिे ही 

अक्षर हैं स्जतिे स्क अगं्रेजी वर्णमाला श्रिंला में हैं? (आगे और पीछे दोिों स्दशाओ ंमें)

(A) None

(B) One

(C) Two

(D) Three

(E) More than three

IBPS-PO-MAINS-2018
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QUESTION 5                                                                                                                            Right mark: 1   Negative mark: 0.25

5. How many such pairs of letters are there in the word "REFRESHING" each 

of which has as many letters between them in the word as in the English 

alphabetical series? (In both forward and backward directions) 

5. शब्द "REFRESHING" में अक्षरों के ऐसे स्कतिे जोडे हैं स्जिमें स ेप्रत्येक के बीच उतिे ही 

अक्षर हैं स्जतिे स्क अगं्रेजी वर्णमाला श्रिंला में हैं? (आगे और पीछे दोिों स्दशाओ ंमें)

(A) None

(B) One

(C) Two

(D) Three

(E) More than three

IBPS-PO-MAINS-2018
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QUESTION 6                                                                                                                            Right mark: 1   Negative mark: 0.25

6. The positions of the first and fifth letters of the word "UMBRELLA" are interchanged. Similarly, 

the positions of second and sixth letters and so on. In the new arrangement, how many letters are 

there in the English alphabetical series between the alphabet which is third from the left end and the 

alphabet which is fourth from the right end?

6. शब्द "UMBRELLA" के पहले और पाचंवें अक्षरों के स्थाि आपस में बदल स्दए गए हैं। इसी तरह,दसूरे और छठे अक्षर, 

तीसरे और सातवें अक्षर और चौथे और आठवें अक्षर की स्स्थस्त आपस में बदल दी जाती ह।ै िई व्यवस्था में, अगं्रेजी 

वर्णमाला में बाए ंछोर से तीसरे वर्णऔर दाए ंछोर से चौथे वर्ण के बीच स्कतिे अक्षर हैं?

( A) Five

(B) Six

(C) Eight

(D) Nine

(E) None of these

IBPS-PO-PRE-2013
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QUESTION 6                                                                                                                            Right mark: 1   Negative mark: 0.25

6. The positions of the first and fifth letters of the word "UMBRELLA" are interchanged. Similarly, 

the positions of second and sixth letters and so on. In the new arrangement, how many letters are 

there in the English alphabetical series between the alphabet which is third from the left end and the 

alphabet which is fourth from the right end?

6. शब्द "UMBRELLA" के पहले और पाचंवें अक्षरों के स्थाि आपस में बदल स्दए गए हैं। इसी तरह,दसूरे और छठे अक्षर, 

तीसरे और सातवें अक्षर और चौथे और आठवें अक्षर की स्स्थस्त आपस में बदल दी जाती ह।ै िई व्यवस्था में, अगं्रेजी 

वर्णमाला में बाए ंछोर से तीसरे वर्णऔर दाए ंछोर से चौथे वर्ण के बीच स्कतिे अक्षर हैं?

( A) Five

(B) Six

(C) Eight

(D) Nine

(E) None of these

IBPS-PO-PRE-2013
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QUESTION 7                                                                                                                            Right mark: 1   Negative mark: 0.25

7.  If in the word "ISOLATE", all the consonants are replaced by the previous letter in 

the alphabet and all the vowels are replaced by the next letter and then all the letters 

are arranged alphabetically, which letter will be third from the right end?

7. यस्द शब्द "ISOLATE" में सभी व्यंजिों को वर्णमाला के स्पछले अक्षर से बदल स्दया जाए और सभी 

स्वरों कोअगले अक्षर से बदल स्दया जाए और स्िर सभी अक्षरों को वर्ाणिकु्रम में व्यवस्स्थत स्कया जाता ह,ै 

कौि सा अक्षर दायें छोर से तीसरा होगा?

(A) P

(B) B

(C) N

(D) Q

(E) None of these

IBPS-CLERK-MAINS-2017
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QUESTION 7                                                                                                                            Right mark: 1   Negative mark: 0.25

7.  If in the word "ISOLATE", all the consonants are replaced by the previous letter in 

the alphabet and all the vowels are replaced by the next letter and then all the letters 

are arranged alphabetically, which letter will be third from the right end?

7. यस्द शब्द "ISOLATE" में सभी व्यंजिों को वर्णमाला के स्पछले अक्षर से बदल स्दया जाए और सभी 

स्वरों कोअगले अक्षर से बदल स्दया जाए और स्िर सभी अक्षरों को वर्ाणिकु्रम में व्यवस्स्थत स्कया जाता ह,ै 

कौि सा अक्षर दायें छोर से तीसरा होगा?

(A) P

(B) B

(C) N

(D) Q

(E) None of these

IBPS-CLERK-MAINS-2017
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.

QUESTION 8                                                                                                                            Right mark: 1   Negative mark: 0.25

8.How many such pairs of letters are there in the word "CASTRAPHONE", each of which 

has as many letters between them in the word (in both forward and backward directions) as 

they have between them in the English alphabetical series?

8.शब्द "CASTRAPHONE" में अक्षरों के ऐसे स्कतिे जोडे हैं, स्जिमें से प्रत्येक में उतिे ही अक्षर हैं-

उिके बीच शब्दों में (आगे और पीछे दोिों स्दशाओ ंमें) जैसा स्क उिके बीच अगं्रेजी वर्णमाला श्रिंला में है ?

(A) One

(B) Two

(C) Three

(D) Four

(E) More than four

IBPS-PO-MAINS-2018
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IBPS-PO-MAINS-2018

8.How many such pairs of letters are there in the word "CASTRAPHONE", each of which 

has as many letters between them in the word (in both forward and backward directions) as 

they have between them in the English alphabetical series?

8.शब्द "CASTRAPHONE" में अक्षरों के ऐसे स्कतिे जोडे हैं, स्जिमें से प्रत्येक में उतिे ही अक्षर हैं-

उिके बीच शब्दों में (आगे और पीछे दोिों स्दशाओ ंमें) जैसा स्क उिके बीच अगं्रेजी वर्णमाला श्रिंला में है ?

(A) One

(B) Two

(C) Three

(D) Four

(E) More than four



REASONING

REASONING

QUESTION 9                                                                                                                            Right mark: 1   Negative mark: 0.25

9. How many such pairs of letters are there in the word "CORPORATE", each of 

which has as many letters between them in the word as in the English alphabetical 

series? (in both forward and backward directions)

9. शब्द “CORPORATE” में अक्षरों के ऐसे स्कतिे जोडे हैं, स्जिमें स ेप्रत्येक में उतिे ही अक्षर हैं- (आगे 

और पीछे दोिों स्दशाओ ंमें) जैसा स्क उिके बीच अगं्रेजी वर्णमाला श्रिंला में है ?

(A) None

(B) One

(C) Two

(D) Three

(E) More than three

IBPS-CLERK-MAINS-2015
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QUESTION 9                                                                                                                            Right mark: 1   Negative mark: 0.25

9. How many such pairs of letters are there in the word "CORPORATE", each of 

which has as many letters between them in the word as in the English alphabetical 

series? (in both forward and backward directions)

9. शब्द “CORPORATE” में अक्षरों के ऐसे स्कतिे जोडे हैं, स्जिमें स ेप्रत्येक में उतिे ही अक्षर हैं- (आगे 

और पीछे दोिों स्दशाओ ंमें) जैसा स्क उिके बीच अगं्रेजी वर्णमाला श्रिंला में है ?

(A) None

(B) One

(C) Two

(D) Three

(E) More than three

IBPS-CLERK-MAINS-2015
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QUESTION 10                                                                                                                           Right mark: 1   Negative mark: 0.25

10. How many such pairs of letters are there in the word "JOURNEY" each of which 

has as many letters Between them (in both forward and backward directions) in the 

word as in the English alphabetical series?

10. शब्द "JOURNEY" में अक्षरों के ऐसे स्कतिे जोडे हैं स्जिमें से प्रत्येक के बीच उतिे ही अक्षर हैं स्जतिे 

स्क अगं्रेजी वर्णमाला श्रिंला में हैं? (आगे और पीछे दोिों स्दशाओ ंमें)

(A) None

(B) One

(C) Two

(D) Three

(E) More than three

IBPS-PO-MAINS-2016



REASONING

REASONING

QUESTION 10                                                                                                                           Right mark: 1   Negative mark: 0.25

10. How many such pairs of letters are there in the word "JOURNEY" each of which 

has as many letters Between them (in both forward and backward directions) in the 

word as in the English alphabetical series?

10. शब्द "JOURNEY" में अक्षरों के ऐसे स्कतिे जोडे हैं स्जिमें से प्रत्येक के बीच उतिे ही अक्षर हैं स्जतिे 

स्क अगं्रेजी वर्णमाला श्रिंला में हैं? (आगे और पीछे दोिों स्दशाओ ंमें)

(A) None

(B) One

(C) Two

(D) Three

(E) More than three

IBPS-PO-MAINS-2016
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QUESTION 11                                                                                                                           Right mark: 1   Negative mark: 0.25
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QUESTION 11                                                                                                                           Right mark: 1   Negative mark: 0.25
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QUESTION 12                                                                                                                           Right mark: 1   Negative mark: 0.25
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QUESTION 12                                                                                                                           Right mark: 1   Negative mark: 0.25
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QUESTION 13                                                                                                                           Right mark: 1   Negative mark: 0.25
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QUESTION 13                                                                                                                           Right mark: 1   Negative mark: 0.25
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QUESTION 14                                                                                                                           Right mark: 1   Negative mark: 0.25
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QUESTION 14                                                                                                                           Right mark: 1   Negative mark: 0.25
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